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







        


 
 

      







      


 
 




 
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






 
 



 

a,b,c,d b d 

 
 

      


 
  

         
       


 
 


 








b d 


 
 








  
 





















       















 
 











   





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








 
 


 
 


   


 
 


   


   


   


 
 


   


 
 


 
 


   

        


 
 


  


   


   


   


 


   


 
 








   


   


 
 

       


 


 
 

        


 
 


 
 


 
 









4

71. Who life in Julius caesar is a trogedy of errors ?
1. cassius 2. Bruts 3. caesar 4. octavius

72. ‘Ay cassar, but not gone there’ there are the words of
1. portia 2. calphurnia 3. sooth sayer 4. decius

73. In the play macbeth, He has no children, there are words
of

1. malcolm 2. lady macbeth  3. banquo 4. macduff
74. Which aspect of fiction refers to the background or colour

or tone of the character ?
1. point of view 2. narration
3. setting 4. charactersiation

75. Oliver gold smith’s poetry deals with
1. senti mental comedy 2. anti sentimental comedy
3. romanticism 4. neo-classicism

76. Which of the following poem is written in couplets ?
1. Road not Taken 2. Bangle Sellers
3. The cloud 4. Day Break

77. Who is the father of American Literature ?
1. Robert Frost 2. Emily Dickenson
3. R.W. Emerson 4. T.S. Eliot

78. “I took the one less travelled by, “Here the one refers to
1. The first choice 2. The second choice
3. The poet himself
4. The futures choice that he will made

79. In the word “Rivers’’ .......... ‘s’ is pronanced as
1. /s/ 2. /es/ 3. /z/ 4. /iz/

80. What is meant by free knowledge ?
1. Easy access to knowledge
2. Easy availability of books
3. To get education without free
4. Knowledge for books

81. ‘Because I could not stop for Death’ published in
1. 1890 2. 1891 3. 1892 4. 1893

82. Why does the author compare the bouquet to a chinese
house ?

1. Because the chinese house are given away to mothers
in gift

2. Because it is so weak like a chinese house
3. Because it is so strong like the house of the chinese

house
4. Because it is shaped like the house of the chinese

83. How does she feel in the dew of the song ?
1. Like a bird 2. Like  a pearl
3. Like a star 4. Like a flower

84. How are the bangles of a bride ?
1. Tinkling, bright, smooth, clear
2. Tinkling, murky, hard and clear
3. Tinkling, hazy, dreamy
4. Tinkling, smooth, luminous, clear

85. The storm growled from the corner of the sky.
Here ‘storm’ is compared to
1. lion 2. tiger 3. monkey 4. man

86. The musical device in “way into the dreary desert sand of
dead habit’’ is

1. Assonance 2. Consonance
3. Alliteration 4. Personification

87. Anecdote for fathers is a/an
1. ballad 2. sonnet 3. ode 4. lyric

88. “And nursling of the sky” Here ‘Nursling’ refers to
1. The sky 2. The cloud
3. The small baby 4. The mother

89. The following statement is not true of the poem “The
Death of a mad Dog”.

1. The people concluded that the dog became mad
2. The people concluded that the dog had lost its senses.
3. The people concluded that the dog would die.
4. The people concluded that the men would die

90. “I got up dazed and dejected and went out”
The above lines are taken from
1. The face on the wall 2. Robots and people
3. The Nightingale and the Rose
4. After twenty years

91. In the beginning of the story, the face on the wall the
narrator of the story is

1. Rudson wayte 2. Spanton
3. Dabney 4. The little man

92. “It is that silly old bag from next door’’ There are the
words of

1. Doris       2. Cyril        3. Mr. Pearson    4. Mrs. Pearson
93. How to Be live 200 the writer addresses people not to get

scared of
1. Germs and insects 2. Snakes & wild animals
3. Insects & germs 4. Germs and Bacilli

94. The word ‘vicinty’ is stressed on ......... syllable
1. fourth 2. third 3. second 4. first

95. Which animals found out the truth about Boxer’s destina-
tion?

1. mollie 2. muriel 3. clover 4. benjamin
96. Dutt, the owner of the modern frame works says that the

cost of the frame is
1. seventeen rupees 2. seven rupees
3. thirteen rupees 4. seventy rupees

97. She wondered whether it could be true. The underlined
clause indicates

1. polite request 2. permission
3. obility 4. possibility

98. The hen has .......... an egg.
Identify the suitable verb form
1. lie 2. laid 3. lay 4. lain

99. .......musician was ......old mussalman
Identify the suitable article
1. The, an 2. The, a 3. a, an 4. The, The

100. He is as wise as solomon
Identify the suitable comparative degree.
1. Solomon is not wiser than he
2. Solomon is wiser than he
3. Solomon was not wiser than he 4. All
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101. His behaviour vexes me. (Choose the passive voice)
1. Iam vexed with his behaviour
2. I was vexes at his behaviour
3. Iam vexed for his behaviour
4. I was vexed at his behaviour

102. The sun set. The boys had not finished the game.
Identify the simple sentence.
1. The boys had not finished the game by sun set
2. The sun setting, the boys had not finished the game
3. Having not finished the game, the sun sets 4. All

103. This is the safe where she keep her ornaments.
The underlined clause is
1. noun clause 2. verb clause
3. adjective clause 4. adverb clause

104. He said, “Bravo! you have done well” (Choose Indirect
speech)

1. He applauded that he had done well
2. He applauded him, saying that he had done well
3. He applauded him, saying that he has done well
4. all

105. How long have you lived ........ this village ?(Choose
preposition)

1. at 2. for 3. in 4. of
106. We went out inspite of the rain

Choose the parts of speech for underlined word/ phrase
1. noun 2. verb 3. conjuction    4. preposition

107. If I married you, .........(Choose the main clause)
1. We should happy 2. We could both happy
3. We would both happy 4. We should both be happy

108. Identify the error of the sentence.
 Some people (a)/  are interested  (b) /  but the majerity  (c)

    / doesn’t (d) care.
1. a 2. b 3. c 4. d

109. I’ll hold that for you, ..........?
Choose the question Tag to make offers.
1. won’t I 2. shan’t I 3. shall I 4. am I

110. Choose the suitable singular, Noun for ‘species’
1. speie 2. species 3. specie 4. specei

111. If you want to show similarties and differences you can
use

1. vendiagram 2.  table
3. flow chart 4. tree diagram

112. The five parts of a sentence are given in the box.
a. The lady informed the hospital authorities
b. and intimated the police
c. when the couple
d. who took custody of the child
e. did not turn up
Now choose the correct order of the above parts to take a

meaningful sentence.
1.a-b-c-d-e 2. c-e-a-d-b 3. c-d-e-b-a 4. c-d-e-a-b

113. Observe the verb pattern for the given structure.
S+V+O+Prepositon + Ving

1. She said to me for praying to God
2. They asked me to meeting them at once
3. I thanked them for helping me
4. None

114. His folly has brough about his ruin.
Identify the meaning for the underlined idiom
1. ruined 2. affected 3. effected 4. caused

115. In a letter, the use of the term, ‘Dear’ purely
1. formal 2. informal 3. personal 4. none

116. “Whatever happens keep calm”. The given sentence is
an adverb clause of

1. time 2. cause 3. condition 4. purpose
117. He replied that he worked whenever he liked

How many clauses are given in the above sentence?
1. one 2. three 3. two 4. four

118. Look.......The sun shines in the East
Choose the suitable punctuation mark.
1. full stop 2. question mark
3. exclamation mark 4. none

119. Ist person, Did you go to college yesterday ?
Choose the IInd person response.
1. no, he did 2. yes, he did n’t
3. no, he don’t 4. yes, he did

120. This puts me in mind of an amusing accident
Choose the suitable meaning for the underlined phrase
1. reminds me 2. be careful
3. remember me  4. decides me

121. Choose the suitable tensne form for the given sentence.
I wish I ....... the prime minister
1. am 2. are 3. were 4. would be

122. Choose the suitable antonym for ‘Incessant’
1. corrigible 2. occasional 3. eternal 4. perpetval

123-126 Read the following. passage.
The proverb, ‘cowards die many times before their death’

is extracted from shakespeare’s ‘Julius caesar’, The
complete form of this proverb is, ‘cowards die many times
before their death, the valiant never taste of death but once.

Caesar utters this maxim when his wife calpurnia pleads
with him not to go to the senate on that day as she fears
that he may die, caesar declares that only cowards give in
to fear. One should not lose heart when one encounters
difficult situations in life. In such situations, one should
gather all the forces at one’s command and try to overcome
them. If a person gives up in the face of adverse conditions,
he cannot progress in life, as life is not a bed of roses. He or
she should face the problems squarely and find ways to
overcome them, as that is the only way to become success-
ful in life.

123. The proverb “Cowards die many times before their
deaths’ is uttered by

1. shakespeare 2. Julius caesar
3. Calpurnia 4. The valiant person
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124. Caesar’s wife requests him .........
1. not to go to the senate 2. go to the senate
3. not to die 4. not to lose heart

125. Here ‘squarely’ means
1. surely 2. cleverly 3. bravely 4. patiently

126. Caesar says, when one encounters difficult situa-
tions.........

Identify the latter part of the sentence.
1. he should give up hope 2. he should leave it to god
3. he should seek someone’s help
4. he should not give up hope

127. Ravi understood a lecture by dividing it into letters
words and sentences. What kind of listening / process
involved in the above statement ?

1. Bottom - Up process 2. Top - down process
3. Critical listening 4. Comprehensive listening

128. “Producing sounds in meaning ful chunks” is a sub-skill
of .........skill

1. listening 2. speaking 3. reading 4. writing
129. Planning a lesson enables the teacher

1. Why to teach & How to teach
2. Where to teach & How to teach
3. What to teach & How to teach
4. What to teach & When to teach

130. Look at the words; Nation, National and International
The formation of the given set of words refers to the

system of the language known as the
1. semantic system 2. synatic system
3. phonological system 4. morphological system

131. A student has passed the written test on spoken English,
but he cannot speak English. It means the test is not

1. Valid 2. Reliable 3. Objective   4. Practicable
132. Teachers of English must use the following to improve

their vocabulary and usage
1. Text books and thesourus
2. Textbooks and encyclopaedia
3. Dictionary and Text book
4. Dictonary and encyclopaedia

133. She is not coming ?
Choose the suitable tone
1. Rising tone 2. Falling tone
3. Rising  - Falling tone 4. Falling - Rising tone

134. Language learning is also a ........ process
1. subordinate 2. vocal
3. correlative 4. developmental

135. “Grammar is the starting point in teaching a language” in
1. structural approach 2. oral approach
3. communicative approach 4. audio-lingual approach

136.”The unit of speech is a word” in
1. Direct method             2. Grammar Translation method
3. Reading method 4. Bilingual method

137. Grammatical competence refers to
1. It gives us strength understanding language
2. An ability to use the right language at the right time
3. An ability to produce and understand all and only

sentences in a language
4. All

138. The General Service list of English words was published
in

1. 1950 2. 1951 3. 1952 4. 1953

139. Ramu wants to read the score card to know how many
runs have been made by Dhoni

Here, the sub - skill of reading is
1. skimming 2. skipping 3. scanning 4. none

140. A good introduction to a text should be
1. Short and to the point
2. Telling the students anything that they can find out for

themselves by reading the text
3. A detailed explanation of the meaning of the text
4. Blocking the students active involvement by the means

of question



   




   


   



   

         
      


   



   

        


   
 ABC   D  BC    AD

AB+AC
<AD <2AD >2AD >AD




  2   2 
 




 
 

x, 2x, 4x 
   



7

 a,b,c          

a
cba

b
cba

c
cba 





  


abc

accbba ))()((

   


   
x=ap, y=aq xq.yp=a2/r pqr=

   
N, N+2, N+4  N 


   


 abba   baba 

 2222 yxyx   yxyx  22





   
 PQRABC  ~ AB= 6 cm, BC=4 cm, AC=8 cm,

PR=6 cm PQ+QR=
   




   
n 122 

n 
   




   
a=3, b=7 

ab<ba ab=ba ab>ba aa+b=ba+b


W Z N Q

A B C A : B : C =
   





 
 

     


 

 
      


















 
  




    
A, B, C 

 
       


B A,B, C A C








   


   


 
 

       




   
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All the Best


 














2NaOH +Zn   2NaZnO2 +H2
  


H2S 
H2SO4 
N2

HClH2SO4 
 
 






 


Ca Cl2 NaOH HNO3


   

Q=i2Rt/J  


 


 
 


 




 
 

ATP NADP FADH2 FMN


NADPH,CO2 NADPH, O2

ATP, O2 ADP, CO2


   

       


   


   


  


ha m ha m ham hm

  


   



   








 
 




   
         


   



Q.No Ans Q.No Ans Q.No Ans Q.No Ans
1 4 51 1 101 1 151 2
2 2 52 2 102 1 152 3
3 4 53 2 103 3 153 2
4 1 54 4 104 2 154 3
5 3 55 3 105 3 155 4
6 1 56 1 106 4 156 3
7 1 57 1 107 4 157 2
8 1 58 3 108 4 158 3
9 2 59 2 109 2 159 4

10 3 60 4 110 2 160 1
11 4 61 2 111 1 161 2
12 1 62 3 112 2 162 3
13 1 63 3 113 3 163 4
14 3 64 1 114 4 164 1
15 1 65 3 115 1 165 3
16 2 66 2 116 3 166 1
17 4 67 2 117 2 167 4

SA ENGLISH(TET MATHS) ANSWER SHEET
SHORT TIME  TEST.  (26.04.2015)

17 4 67 2 117 2 167 4
18 2 68 2 118 3 168 2
19 2 69 4 119 4 169 3
20 4 70 1 120 1 170 4
21 1 71 2 121 3 171 2
22 1 72 3 122 2 172 4
23 4 73 4 123 2 173 3
24 3 74 1 124 1 174 2
25 3 75 2 125 3 175 4
26 1 76 4 126 4 176 2
27 3 77 3 127 1 177 1
28 2 78 2 128 2 178 3
29 4 79 3 129 3 179 2
30 1 80 1 130 4 180 4
31 3 81 1 131 4 181 4
32 4 82 4 132 3 182 3
33 1 83 3 133 1 183 3
34 3 84 1 134 4 184 2
35 2 85 2 135 1 185 3
36 4 86 3 136 2 186 1
37 1 87 4 137 3 187 4
38 2 88 2 138 4 188 1
39 2 89 3 139 3 189 2
40 3 90 1 140 1 190 140 3 90 1 140 1 190 1
41 3 91 4 141 4 191 2
42 3 92 2 142 1 192 1
43 3 93 4 143 2 193 1
44 1 94 3 144 3 194 2
45 4 95 4 145 3 195 1
46 2 96 1 146 4 196 1
47 1 97 4 147 4 197 2
48 3 98 2 148 3 198 1
49 4 99 1 149 2 199 2
50 2 100 3 150 3 200 1


